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import UIK1it
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import UIKit
let epslon = 0.01
var change = 2.0
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» dimport UIKit

let courseNuml = 10
3 let courseNum2 = 20
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import UIK1it
let 1nSetl = true
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print(inSet2)
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import UIK1it
var 1nSetl = true
var 1nSet2 = true

5 print(intersect)
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import UIK1it
var 1nSetl = false
var 1nSet2 = false

5 print(intersect)
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> dimport UIKit
let courseNuml = 10
3 let courseNum2 = 20



EEERS 5 21 & haltConditionF:E B3 A &4
HEARBHWE - E—{EfESloopEnterfmifE:
2 > IBENYIAERRTE ShaltConditionfy z [a) 45 5R

import UIK1it
var haltCondition = false

print(loopEnter)
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1 1mport UIKit

let maxLoop = 100
var converge = false
var loopNum = 50

print(loopEnter)
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import UIK1it
var number = 90
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import UIK1it

var number = 90

var timesThree = number % 3 ==
var timesTwo = number % 2 ==

6 print(timesSix)




